
1

2

REVISIONS

REV DESCRIPTION DATE

xx/xx/20xx

REP N° DAK Description QTE

1 07.002345-C CHAUFFE EAU SOLAIRE 301-29H_V20 1

2 07.002246-C KIT SUP PT CESI 301_29H_V20 1

J.BRIARD
F.MYKIETA

E.JEFFREDO

-

-

CESI 301_29H_V20 PT GRIS 9007

STANDARD

A3 C

139 Kg

04/12/2020

07.002253
1:15

1/1

-Informations contained 
in this drawing are the 

sole properties of 
DAK INDUSTRIES.

Reproduction in part or 
whole without the written 

permission is prohibited.
PAGE:

SCALE :

D

E

C

B

A

321

C

D

8

A

B

WEIGHT :

N° DAK INDUSTRIES REVISION :MATERIAL :

STATUS :

LINEAR DIMENSIONS ARE IN MILLIMETERS.
ANGULAR DIMENSIONS ARE IN DEGREES.
GENERAL TOLERANCES ACCORDING TO: DESIGNER

CHECKER

NAME DATE & SIGNATURE

FINISH :

SIZE : 

E

CREATION DATE :

NAME :

-
METHODS



3

1

2

Fixation traverses capteur / longeron
4x Vis TRCC M8x16
4x Rondelle plate d11xD30xép1 - Nylon
4x Rondelle plate d8,4xD25xép1.5 - Nylon
4x Rondelle plate d8xD22xép1.5 - Inox A4
4x Ecrou H M8 frein Nylon - Inox A4

Fixation traverses ballon / longerons
4x Vis TH à embase M10x20 - Inox A4
8x Rondelle plate d11xD30xép1 - Nylon
4x Rondelle plate d10xD27xép2 - Inox A4
4x Ecrou H M8 frein Nylon - Inox A4

REVISIONS

REV DESCRIPTION DATE

xx/xx/20xx

REP N° DAK DESCRIPTION QTE

1 07.002247-C TRAVERSE SUPPORT CAPTEUR 2006 2

2 07.000149-C TRAVERSE SUPPORT BALLON 300L 2

3 07.001608-C LONGERON BALL CAPT LG2060 2

J.BRIARD
F.MYKIETA

E.JEFFREDO

-

-

KIT SUP PT CESI 301_29H_V20

STANDARD

A3 C

27 Kg

03/12/2020

07.002246
1:10

1/3

-Informations contained 
in this drawing are the 

sole properties of 
DAK INDUSTRIES.

Reproduction in part or 
whole without the written 

permission is prohibited.
PAGE:

SCALE :

D

E

C

B

A

321

C

D

8

A

B

WEIGHT :

N° DAK INDUSTRIES REVISION :MATERIAL :

STATUS :

LINEAR DIMENSIONS ARE IN MILLIMETERS.
ANGULAR DIMENSIONS ARE IN DEGREES.
GENERAL TOLERANCES ACCORDING TO: DESIGNER

CHECKER

NAME DATE & SIGNATURE

FINISH :

SIZE : 

E

CREATION DATE :

NAME :

-
METHODS



 C
ap

te
ur

 V
20

: (
 1

45
5 

) 

 C
ap

te
ur

 V
20

: (
 1

58
0 

) 
 3

26
 

Capteur V20: Traverse basse 
ballon à prémonter sur le petit 
oblong du bas longeron

Traverse basse capteur 
à prémonter en bas 
du oblong longeron

V20

REVISIONS

REV DESCRIPTION DATE

xx/xx/20xx

J.BRIARD
F.MYKIETA

E.JEFFREDO

-

KIT SUP PT CESI 301_29H_V20

STANDARD

A3 C

27 Kg

03/12/2020

07.002246
1:5

2/3

-Informations contained 
in this drawing are the 

sole properties of 
DAK INDUSTRIES.

Reproduction in part or 
whole without the written 

permission is prohibited.
PAGE:

SCALE :

D

E

C

B

A

321 5

C

D

4 6 7 8

A

B

WEIGHT :

N° DAK INDUSTRIES REVISION :MATERIAL :

STATUS :

LINEAR DIMENSIONS ARE IN MILLIMETERS.
ANGULAR DIMENSIONS ARE IN DEGREES.
GENERAL TOLERANCES ACCORDING TO: DESIGNER

CHECKER

NAME DATE & SIGNATURE

FINISH :

SIZE : 

E

CREATION DATE :

NAME :

-
METHODS

-



 2060 

 1
59

 

 2
00

6 

 1
84

6 

 E
nt

ra
xe

 lo
ng

er
on

 

A

 6 

 22 ±3 

 24 
DÉTAIL A

ECHELLE 1 : 2

Positionnement des 
vis autoperceuses 
de fixation

REVISIONS

REV DESCRIPTION DATE

xx/xx/20xx

J.BRIARD
F.MYKIETA

E.JEFFREDO

-

KIT SUP PT CESI 301_29H_V20

STANDARD

A3 C

27 Kg

03/12/2020

07.002246
1:15

3/3

-Informations contained 
in this drawing are the 

sole properties of 
DAK INDUSTRIES.

Reproduction in part or 
whole without the written 

permission is prohibited.
PAGE:

SCALE :

D

E

C

B

A

321 5

C

D

4 6 7 8

A

B

WEIGHT :

N° DAK INDUSTRIES REVISION :MATERIAL :

STATUS :

LINEAR DIMENSIONS ARE IN MILLIMETERS.
ANGULAR DIMENSIONS ARE IN DEGREES.
GENERAL TOLERANCES ACCORDING TO: DESIGNER

CHECKER

NAME DATE & SIGNATURE

FINISH :

SIZE : 

E

CREATION DATE :

NAME :

-
METHODS

-


	Feuille1
	Vue de mise en plan35


